
���������	��

������������
������������ ���!
#"$�&%�'(�)���	'*"+"$�������	
�"$� ,�-�-/./01,�-�-/2
354 687:9<;
=?>A@/BDCAE?BGF?BIHKJML�JNEO@PBD>RQDBGJTSUJNVPV/>AE?BDVP>

W�X�Y!Z\[^]_Y!Za`cbMdNegfihjfk]�lNZ\[�mIf�nporqrd�sutrd�suv^w

x)y{z!|$}\~���~����!� �^���D�u���������{���+���������#���{�����u���u�����������c���������A���u�����

ż = −∇V, z = (x, y) ∈ R
2,
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V (x, y) = y2 − x4 + 2x2 − 1
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ẋ = 2y(x2 − 1)(2x2y2 − x2 − 1)

ẏ = 2x(1 − y2)(2x2y2 − y2 − 1)
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H(x, y) = (x2 − 1)(y2 − 1)(x2y2 − 1)
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ΓE = {(x, y) ∈ R
2 : H(x, y) = E}
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γ = Lω(x)
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ẋ = −2x− y2

ẏ = −y − x2
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